| ar |

0)
0 ' -80 (-@

FYRE QL -/ I ——¢ =28 2100t @

SFU1204-400 With Nut

SFU1204-500 With Nut

SFU1204-600 With Nut

Ball Bearing 60822

BK10 + Nut (Angular bearing included)

BF10 + circlip + 6082Z

Coupler D20L25-5.0-8.0

MGN12H_Rail Assy

NEMA17 1.8/0.9 degree Stepper Motors
48 mm

Ball_Bearing_6mm

Magnet_8X3mm

M4_Nut_94150A335

M3x20

M6x12_ButtonHeadScrew_97763A820

M6x20_ButtonHeadScrew_91239A228

M6X14_ButtonHeadScrew_92095A227

M3X10_CapScrew_92290A115

M3X12_CapScrew_92290A117

M5x40_CapScrew_92290A118

M4X14_CapScrew_92290A150

M6x60 CapScrew

MS5X30_CapScrew_90605A257

M2x8_CapScrew_91290A434

Arm R

Arm L

Arm B

Retainer R

Retainter L

Retainer B

Bracket R

For the Vcore-3-300

For the Vcore-3-400

For the Vcore-3-500

Bearing 6082z if not in the BF10

Coupler, Spider - 8 to 5mm

MGN12H Rail from the RR kit

Stepper Motor - NEMA17X48mm

Bearing, Ball - 6mm

Magnet, Disc - 8X3mm

Nut, Hex - M4

Screw, Button Head - M3x20

Screw, ButtonHead - M6x12mm

Screw, ButtonHead - M6x20mm

Screw, ButtonHead - M6X14mm

Screw, Cap - M3X10mm

Screw, Cap - M3X12mm

Screw, Cap - M5X40

Screw, Cap - M4X14mm

Screw, Cap - M6X60

Screw, Cap - M5X30

Screw, CapScrew - M2x8

Print

Print

Print

Print

Print

Print

Print

30

11

14

15

16

18

12

BK10 and BF10 machined end required. BK10 required. and BF10

blocks is not. LOOK For C7-G7 Grade.

BK10 and BF10 machined end required. BK10 required. and BF10

blocks is not. LOOK For C7-G7 Grade.

BK10 and BF10 machined end required. BK10 required. and BF10

blocks is not. LOOK For C7-G7 Grade.

NOT Required: the 6082Z is mandatory

Included with the RR kit- PREFER KISS3D Disc coupler

No need to cut it

FOR 500 USE 1,8 NEMA17 48-60mm

Ball Bearing dont need to be magnetized, Chrome Steal preffered.
7mm or 8mm can be tested to decouple the system and tune it

Neodymium (these magnets are sold as 3mm thick but the ones
received are 2.75mm. True 3mm thick will not create any issue.)

p ? 7 OSwi3Bh

OSw2g)fPhH-

7yXGITIKPrKr5t53CooMSQ

https: k.aliexpress.com/e/_AVhQZK

E3D / Trianglelab / LDO

)/ref=ppx_yo_dt b_asin_title_007_s00?ie=UTF8&psc=1

amazon, 0_dt b_asin_title 003 s00?ie=UTF8&psc=1

Any shop near your location ;)

%3AAQAGAAAC

2B2IMhMi7yxGITIKPrKr5t53CooMSQY


https://www.ebay.fr/itm/273908878058?hash=item3fc63dcaea:g:3SQAAOSw2gJfPhH-
https://s.click.aliexpress.com/e/_AVhQZK
https://www.amazon.fr/gp/product/B00J8JR03O/ref=ppx_yo_dt_b_asin_title_o07_s00?ie=UTF8&psc=1
https://www.amazon.fr/gp/product/B074C79DJS/ref=ppx_yo_dt_b_asin_title_o03_s00?ie=UTF8&psc=1

Bracket L

Bracket B

Wing low

Wing top

Wing top mirrored

Ruthex Insert M5

Ruthex Insert M3

Ruthex Insert M2

* 98009 T

Print

Print

Print

Print

Print

| ar |

12

16



ym

ym

Wil

(C6fC

Wil

JguCxCofC






